PODSTAWY MATEMATYKI
ZESTAW 9 — Funkcja wyklfadnicza i logarytmiczna

ZADANIE 1 Rozwigz réwnania:

(a) 3*tt =81, (g) log, 159 =2,

)
Tx+5 99—z _
0 - (apr =0, () log, ( 1og; (log, 2)) =0,
)
)
)

(C 83x—5 -0, 125(\f)6 S5 _ 0,
(d) 4%+! 4 3.52% = 52+l _ 4o, (i) 1—logvx —5+logv2x — 3 =1log30,
(e) 471 —5. 291 L 4 =, () logigx + logyz + logyx =7,

(f) 2oL 4222 p9v=3 1 —/3.20F1 8 (k) z'°8* =100z.
ZADANIE 2 Rozwiaz nierdwnosci:

(a) 0,257 . 22+1 > 1, (d) log, 4z > —1,

(b) 3-9* —28-3*+9 <0, (e) log%(x—l)—log%(ﬂ:+l)<2,

¢) logglogs xz < 13, f) 2logx + 4log? z + 8log z + ... < log? z.
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